Bud cbepxuy

[lecok ynnomHénHbIl unu LIIC (1:4)

KOMDpECCOpHGﬂ cmaHyus

Camoméyrsid Bsixod Bbixod
/ npuHydume/ibHo20
/

copoca

U (1:4)

N\

2400

N
S
0
Y
]
S
S
< S| S
_ N Q
S Bbixod
f” NpuUHYydume/IbHo2o
- - copoca
RS
= \\ Camomé4qHbiu Bbixod
= ~_KomnpeccopHas cmaHyus
=
S \
S A
< 9
o 150 4000 150
S » 4300 Kolo llma 50
S /lum.| Macca| Macwma
S Yiom | lucm| N2 dokym| [lodn. |Jama
= Pa3zpad. (xema mMoHmMaxa 1:30
[Ipo8.
S I. KoHmp. ucm | /lucmob 1
S
i H. koHmp.
<= Ymé.




	Лист1
	Чертежный вид1
	Чертежный вид2


